|_total events O=anylnput 8=anyAccept | |enwies 72427| [L2 COMP+DECI time per input event Entries 32197
T e 38 ] Tt T e Mean 2898
RMS 3.261 [ r RMS 9.021
-------------------------------------------------------------------------- ?OOO_
'''''''''''''''''''''''''''''''''''''''''''''''''''''''''' Tgoo: S . O S A U ST S
............................................................................... 00 B S E PR RRTRRRS
LA00 =+ -de b
__________________________________________________________ 1200w of oo b e
o e 1000kl
------------------------------------------------ 800:
TR SR S0 e F LRTTTEEPPY TOLPPPPPE DRPPPPETE ERPPPETEE PEPTTEPPR-PEEERRS
...................................... 400
_____________________________________ ] N A
IIIIiIIIIiIIII O IJIIIIJIIIIIIIIIIIIIIIII
0 1 2 3 4 5 6 7 8 9 0 20 40 60 80 100 120 140 160 180
Accept: 4=oneJet, 5=diJet, 6=rnd x: COMP+DECIS time (CPU kTics)
|rate of input events Entries 32197 4ccpet rate blue:monoJet, red:diJet, black:randon1 Entries 11625
N Mean 1247 < Mean 1242
= T
@ 14 RMS 6857 P 683.5
2 - . T s
SN B S A SR A R Sl . N
o/ S— A— AR— A— A— . Tl
] S A :
- I SO SO SPUST "
- 1 1
Lo o T e L R e LR RECEE SCEECREEREERE '
4:_ ....................................................................................
00 OIS S I SO SO ST S
0_ 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 | D N b i -l 4 | — | j & | I | j_ 1 1 - . i 1 o L 1
0 500 1000 1500 2000 2500 0 500 1000 1500 2000 2500

X: time in this run (seconds)

X: time in this run (seconds)




BTOW tower, Et>2.0 GeV (input)

soft=1+

x: BTOW softiD.

soft=801+

500
x: BTOW softiD.

o
Xx: BTOW softiD.

soft=2401+,

o
x: BTOW softiD.

BTOW tower, Et>2.0 GeV (input)

o
Xx: BTOW softiD.

soft=4001+,

o
X: BTOW softiD.



han+128*crate

: i=chan+128*crate

x: i=chan+128*crate

x: i=chan+128*crate

crate=5

x: i=chan+128*crate

=chan+128+crate




BTOW tower, Et>2.0 GeV (input) Entries 27878 | |erow

BTOW-East BTO-est

120 560
(@] - 2
O P
U c
b E
¢ =
400 50
i®)

=

o

>80 40

30

el 00t wm M m e, ™ EmmB 20

10

25 30 35 40 0 2 4 6 8 10 12
X eta b | n y [-l,+l] x: 12 - Endcap etaBin ,[+1,+2]



Et Jetl-Jet2 (input) |

~ 30
5]

25

Jet2 Et/G

20

15

10

10

|diJet phil-phi2 (input) |

y: iPhi2 ~sector

15

[Entries 32196 IdjJet1 eta-phi (input)]
o BTOWEasi_BTOW-West
S
1800 9
? 25
; —{1600 =
: o
i B 1400 &
: > 20
H IlN BN 1200
-------- !1000 15
800
------------------- 10
600
- 400
200
0 0
20 25 30 0 2 4 6 8 10
x: Jetl Et/GeV
[Entries 32196]  [djJet2 eta-phi (input)]
— T BTOW-West
@]
©
(O]
%]
------------------------ L 25
ey
o
o

25 30
x: iPhil ~sector

15

10

10

Endcap

200

'150

—100

I50
0

Entries 32196

Endcap
Isoo

250

12 14
x: iEta [-1,+2]

200

150

100

50

12 14
X: iEta [-1,+2]



Jet2 Et (input)

Jetl Et (input) Entries 32196
~|Mean 7.82
: [RMS 2.634
=50
x: Et (GeV)
#BTOW towers>ped+8 (input) | Entries 32196
2000 = ; T " T T " " ; Mean 17.26
1800 Lo SRR S . SUNUIE U :...|[RMS  7.176
1600 E— : : : : : : : :
1400 E—
1200 —
1000 |-
800 |-
600 |=
400
200
0 PEFEEPE AR AP BRI ST R R
0 20 40 60 80 100 120 140 160 180 200
x: # of towers/event
# ETOW towers>ped+8 (input) | Entries 32196
T T T T T T T T Mean 3.6
. o b [RMS 3,008
5000 g - - - v b e e e e
4000
3000
2000
1000
o i i i i i i
0 40 50 60 70 80 90 100

x: # of towers/event

x: Et (GeV)

Entries 32196
T{Mean 2.917
RMS 2.061

=50

10

102

Entries

{Mean
‘IRMS

32196
14.76
5.181

90 10
x: Et (GeV)

0




Entries 11625

one-Jet Et (accepted) |

10

50 60
X: jet Et (GeV)

y: iPhi ~sector

one-Jet phi (accepted) | Entries 11625

500

..............................................................................

400

300

200

100

......................................................................................

0 1 1 1 1 i 1 11 1 i 1 1 11 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1

0 5 10 15 20 25 30
x: iPhi ~sector

1200

1000

800

600

400

200

Entries 11625

10 12 14
x: iEta [-1,+2]

Entries 11625

..................................

..................................

0 2 4 6 8

10 12 14
x: iEta [-1,+2]



Entries 8867 ; i
|Et of Jetl vs. Jet2 (accepted)| |d|Jet1 ta phl_ accepéei@l,v_West Endcap

> 30 _ 30
> L
) L 1400 g
8 o
@ -
s 251 1200 = 2°
i a
20— 1000 > 20
L 800
15_— 15
C 600
10 10
L 400
5[
r 200
0 C 111 | [ T | [ I | | 111 | | I T | | | I T | 0 0 0
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
[diJet phil-phi2 (accepted) | [Enties _8867]  [djJet2 eta-phi (accepted)|
30 % SVWVA == DTV es

80

70

y: iPhi2 ~sector
N
(82

20 e = 60
50
40

10 Rt R 30

20

0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: iPhil ~sector X: iEta [-1,+2]



|diJet Et (accepted)|

Entries

10

—|Mean

SR A : : : HRMS

8867
9.57

2.935

: L
ERTS XY SETPPTEPIIETLY I FT-TAPOIEr |

0 10 20 30

50
x: Et (GeV)

40

60

|diJet eta (accepted) |

Entries

1000

800

600

400

200

0 2 4 6 8

Mean

RMS

8867
5.955
3.227

................................................

: ; — High Et jet
- --- Low Et jet

10 12 14

x: i Eta[-1,+2]

Entries

|diJet phi (accepted)|
400 ' '
350
300
250
200
150
100

50

—|Mean

.......................................................................

:|RMs

8867
15.14
8.801

.........................................................................

...........................................................

— High Etjet
--- Low Et jet

o

5 10 15 20
x: iPhi ~sector

25 30

|di.]et delZeta (accepted)|

Entries

900

800

700

600

500

400

300

200

100

Mean
RMS

8867
30.88
5.946

...................................................................................

20 30 40 50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted) | Entries

y: delta zeta (rad*10)

Mean x

ool |diJet eta2 vs. etal (a chiries  SoeY
30.88 = Meany 6172

Mean y

0

x: iEta2 [-1,+2]

2 4 6 8 10 12 14
x: iEtal [-1,+2]

|diJet delZeta vs. avrPhi (accepted)|

Entries

Mean x

60

50

40

y: delta zeta (rad*10)

30

20

10

0 2 4 6 8 10 12 14
x: iEtal [-1,+2]

0

5 10 15 20 25 30

x: (iphil+iphi2)/2 (12 deg/bin)



|tota| Et diJet (accepted) |

Entries 8867

|tota| Et diJet (accepted_EE)|

Entries

7

:|Mean

28

17.39

10 20 30 40 50 60
x: Et (GeV)

Mean 19.52
QOO+ el eresesdeermeeden s T
BOOF -+ -
4010 O e O ST
GO0 ebeee oo e
[70]0) S e R S S USSP SO S S S
AQO =+ bederee e
07| U AU N O SO SR AU SUUUUE SUUPUU PR
200 L
0] s
0 P T T T R T
0 20 30 40 50 60 70 80 90 100
x: Et (GeV)

|tota| Et diJet (accepted_EB)| Entries 509

: : : :|Mean 18.61

50

40

30

20

10

10 20 30 40 50 60
x: Et (GeV)

900

800

700

600

500

400

300

200

100

Mean

Entries 8867

19.52

..................................................................................

IIIIiIIIIiIII -I_I_Lil_ulJl_lLllJll_lllillllillll

10 20 30 40 50 60 70 80 90 100
x: Et (GeV)




|Et of Jetl vs. Jet2 (accepted EE) |

Entries

> 30
Q

Jet2/G

25

20

15

10

0

0 5

Mean x

—{Mean y

......................................................................................

......................................................................................

10 15 20 25
x: Jetl/GeV

28
8.429
5.071

4.5
—14
—3.5
—3

s

=12

15

1

0.5

0

30

|diJet Et (accepted_EE)|

Entries

10

:|Mean

28

8.429

— High Et jet

IR B AR ---Low Etjet [

10 20 30 40 50

60

x: Et (GeV)

28
15.21
14.93

|diJet phil-phi2 (accepted_EE)| I\Eﬂgfi
30 : Mean y

N
¢

y: iPhi2 ~sector

20

15

10

0 5

....................................................................................

10 15 20 25
x: iPhil ~sector

1.8

—1.2

0.6

0.4

0.2

30

|diJet eta2 vs.

Entries
Mean x

etal (accepted EE)|

Endcap

0
|

= QTO\VI\I eany
+ 14 __ ............................... R S [
FI' -
N N
i S LA IR
<

10

.............................

................................................

.............................

28
13.14
12.96

O 1 1 1

2 4 6 8 10 12 14

x: iEtal [-1,+2]



|Et of Jetl vs. Jet2 (accepted EB)| e |diJet Et (accepted EB)| Entries 509
> 301 r{Meany 5.059 T Mean 9402
% i 80 T e e e e R
e O SO SO O SUOROTUUONS SOURORE SIS "

” : —70 102 _—:—l" ----------------------------------------------------------------------------
20— —60 T T T T
B 50 N RN R 5: """""" S
151 ook — High Et_Jet ---------------------
C 40 ' --- Low Et jet
C 10 bt e
10 30 I
x 20 C
S : ¥ : : : :
- 10 e J'L” """"" T T
0_| L1 | (I T | | T T | | (I T | | [ T | | [ T | O l_l'l'l'"l' ||"1I"'L L :" '|'"|'|'I"i"':"fl'n"':"i:"'n"i"n'"n"':"|"'|"'|"'|"
0 5 10 15 20 25 30 0 10 20 30 40 50 60
x: Jetl/GeV x: Et (GeV)
i i1- i Entries 509 i Entries 509
|diJet phil-phi2 (accepted EB)| Enties 03| [diJet eta2 vs. etal (accepted EB)] N b

30

o
|IIII|IIII

y: iPhi2 ~sector

20

15

10

0 5

—{Mean y

.............

20 25 30
x: iPhil ~sector

10 15

15.11

ean y

e

0
|

.................

.............................

1 1 1 i 1 1 1 i 1
12 14
x: iEtal [-1,+2]

O 1 1 1 i 11 1 i 1 1 1 i 1 1 1 i 1 1 1

0 2 4 6 8 10

11.55




|Et of Jetl vs. Jet2 (accepted BB)| Entries 8867 |diJet Et (accepted BB)] Entries 8867

Mean x  9.524
> 30 . . . . —Meany 5.143
(] N N N N N

9.57

“1Mean

00

Jet2/G

25

20

15

10

ISR e P | S | SR ARTRUR
: at g : :
o) | L1 | Lo | L1 | L1 | L1 1 et -r--i---|---|--1-'-!-”--!_-,--,--.-_--_ B R
0 5 10 15 20 25 30 0 10 20 30 40 50 60
x: Jetl/GeV x: Et (GeV)
|diJet phil-phi2 (accepted BB)] Entries 8367 | IdjJet eta2 vs. etal (accepted BB)] Entries 8867
= Mean x  15.14 = = Endca ean x 5.955
_ 30 Meany 1485 | = —pa-aa eany 6.172
2 : * 14
() I
? o5 : ~
"""""""""" © ca
z o 12 P
a : : T
.. g : . x
> 20 R S ;

....................................................

0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
Sun Apr 12 115423 2009 x: iPhil ~sector x: iEtal [-1,+2]



